BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

10*

1000

rm666 X%/ (410983—4961)=0.942
F T T T T T T T T T T T F
BIC 446737.28 ABIC 0.000 AlogP 0.0000
I X% 382609.88 Ax? 0.000 AlogP 0.0000 ]
- |
I Z__e—\::__e_&________'mc
I ; ABIC —894047 1175 «( ]
i : A? —894047 : 11.8 ( |
4871 ; 4871 ; 4961
A . ; . AC ;I . ACSF . .
20 40 60 80 100 120
120 iterations

rm666 X2/ (410983-4961)=0.942

' | | T
BIC 446737.28 ABIC 0.000 AlogP 0.0000 ]

Fe2 11% 675+119 km/s

rm666 BLR 7130 NLR 900 km/s
F T T T T T T T T T T T i
T e T s T = T = 'J ']."_L"_'"_‘ T —_ T—— T e T A T e T =T = —
— _‘E_O—‘E __ __ i :_E
| ACF | ]

80 100 120

120 iterations

kdh1 13-0ct-2021 13:33

1 BLR

NLR
Fell



